# ITB NAME: Ductile Iron Water Main (Multi-YearT)

#### DEPARTMENT OF PURCHASING CONTRACTING Price Bid TABULATION

ITEM	DESCRIPTION	Ferguson Wateworks					Vendor
		Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
1	Bend, 90 M.J., 3-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, M.J., per enclosed Minimum Specifications.	10	Each	\$87.84	\$878.40		
2	Bend, 90 M.J., 4—inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, M.J., per enclosed Minimum Specifications.	10	Each	\$95.04	\$950.40		
3	Bend, 90 MJ, 6-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, M.J., per enclosed Minimum Specifications.	80	Each	\$155.52	\$12,441.60		
4	Bend, 90 M.J., 8-incb, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class M.J., per enclosed Minimum Specifications	80	Each	\$224.64	\$17,971.20		
5	Bend, 90 M.J., 10-inch., ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, M.J., per enclosed Minimum Specifications.	5	Each	\$355.68	\$1,778.40		
6	Bend, 90 M.J. 12-inc.h, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.	10	Each	\$478.80	\$4,788.00		
7	Bend, 90 M.J., 16-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.	4	Each	\$1,083.60	\$4,334.40		
8	Bend, 45 M.J., 3-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.	5	Each	\$79.20	\$396.00		
9	Bend, 45 M.J., 4-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications	8	Each	\$79.20	\$633.60		
10	Bend, 45 M.J., 6-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications	75	Each	\$126.00	\$9,450.00		
11	Bend, 45 M.J., 8-inch, ductile iron, (see NOTE 1) AWWA Standard, I 50 Lb. Class, per enclosed Minimum Specifications.	75	Each	\$183.60	\$13,770.00		
12	Bend, 45 M.J., 10-inch ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications	500	Each	\$264.96	\$132,480.00		
13	Bend, 45 M.J., 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.	5	Each	\$396.00	\$1,980.00		
14	Bend, 45 M.J., 16-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications	6	Each	\$774.72	\$4,648.32		

Renee' Witness Signature: <u>Stevenson</u>

Digitally signed by Renee' Stevenson Date: 2022.06.15 12:25:31 -04'00'

Agent Signature:

Purchasing Director Signature:

# ITB NAME: Ductile Iron Water Main (Multi-YearT)

#### DEPARTMENT OF PURCHASING CONTRACTING Price Bid TABULATION

ITEM	DESCRIPTION	Ferguson Wateworks					Vendor
		Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
15	Bend, 22-1/2 M.J., 6-Inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.	50	Each	\$114.48	\$5,724.00		
16	Bend, 22-1/2 M.J., 8-inch, ductile iron, (see NOTE 1), AWWA Standard, 1SO Lb. Class, per enclosed Minimum Specifications.	25	Each	\$179.28	\$4,482.00		
17	Bend, 22-1/2 M.J., 10-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications	5	Each	\$264.24	\$1,321.20		
18	Bend, 22-1/2 M.J., 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications	5	Each	\$346.32	\$1,731.60		
19	Bend, 22-1/2 M.J., 16-inch, ductile iron, (see NOTE l), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.	2	Each	\$743.04	\$1,486.08		
20	Bend, 11-114 M.J., 6-inch, ductile iron, (see NOTE I), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.	5	Each	\$120.24	\$601.20		
21	Bend, 11-1/4 M.J., 8-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.	12	Each	\$162.72	\$1,952.64		
22	Bend, 11-1/4 M.J., 10-inch, ductile iron, (see NOTE 1), AWWA Standard, 150Lb. Class, per enclosed Minimum Specifications	2	Each	\$262.80	\$525.60		
23	Bend, 11-114 M.J., 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.	2	Each	\$324.72	\$649.44		
24	Bend, 11 1/4 M.J., 16-inch, ductile iron, (see NOTE 1), AWWA St1111dard, 150 Lb. Class, per enclosed Minimum Specifications.	2	Each	\$786.24	\$1,572.48		
25	Clamp, socket, 6-inch, for M.J. fittings, ductile iron, (see NOTE 1), AWWA Standard, 150-Jb. Class, per enclosed Minimum Specifications.	10	Each	\$148.37	\$1,483.70		
26	Clamp, socket, 8-inch, for M.J. fittings, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.	30	Each	\$164.43	\$4,932.90		
27	Clamp, socket, 12-inch, for M.J. fitting, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.	5	Each	\$218.98	\$1,094.90		

Renee' Witness Signature: <u>Stevenson</u>

Digitally signed by Renee' Stevenson Date: 2022.06.15 12:26:28 -04'00'

Agent Signature: \_

Purchasing Director Signature:

# ITB NAME: Ductile Iron Water Main (Multi-YearT)

#### DEPARTMENT OF PURCHASING CONTRACTING Price Bid TABULATION

ITEM	DESCRIPTION	Ferguson Wateworks					Vendor
		Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
28	Coupling, anchoring. M.J., 6-inch x 13-inch (long), ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-Ib. Class, per enclosed Minimum	300	Each	\$253.44	\$76,032.00		
29	Coupling, anchoring, M.J., 8-inch x 13-inch (long), ductile iron, (see NOTES 1and 2), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.	200	Each	\$324.72	\$64,944.00		
30	Coupling, anchoring, M.J., 6 inch x 24-inch (long), ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.	50	Each	\$377.28	\$18,864.00		
31	Coupling, anchoring, M.J., 8-inch x 24-inch (long), ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-Ib. Class, per enclosed Minimum Specifications	60	Each	\$577.55	\$34,653.00		
32	Coupling, anchoring, M.J., 6-inch x 36-inch (long), ductile iron, (see NOTES 1 d 2), AWWA Standard, 150-Ib.Class, per enclosed Minimum Specifications.	50	Each	\$361.44	\$18,072.00		
33	Coupling, anchoring. M.J., 8-inch x 36-inch (long), ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-lb.Class, per enclosed Minimum Specifications.	40	Each	\$705.13	\$28,205.20		
34	Coupling Anchor, M.J., (Gradelok), 6-inch x 12- inch, ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.	1	Each	\$731.41	\$731.41		
35	Cross, M.J., ductile iron, 6-inch x 6-inch, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications. Bidding On:	2	Each	\$324.72	\$649.44		
36	Cross, M.J., ductile iron, 8-inch x 6-inch, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.	2	Each	\$336.96	\$673.92		
37	Cross, M.J., ductile iron, 8-inch x 8-inch, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.	10	Each	\$354.24	\$3,542.40		
38	Cross, M.J., ductile iron, 8-inch x 8-inch, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.	2	Each	\$547.92	\$1,095.84		
39	Cross, M.J., ductile iron, 12-inoh x 8-inch, (see NOTE 1), AWWA Standard, 150-lb.Class, per enclosed Minimum Specifications	2	Each	\$629.28	\$1,258.56		

Renee' Witness Signature: <u>Stevenson</u>

Digitally signed by Renee" Stevenson Date: 2022.06.15 12:26:48 -04'00'

Agent Signature: \_

Purchasing Director Signature:\_

#### ITB NAME: Ductile Iron Water Main (Multi-YearT)

#### DEPARTMENT OF PURCHASING CONTRACTING Price Bid TABULATION

ITEM	DESCRIPTION	Ferguson Wateworks					Vendor
		Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
40	Gland, retainer, 6-inch, split Megalug, Series 1100 SD, (see NOTE 1), AWWA Standard, 150-lb. Class, per Enclosed Minimum Specifications and Special Specifications.	20	Each	\$182.05	\$3,641.00		
41	Gland. retainer, 8-inch, split Megalug, Series 1100 SD. (see NOTE 1), AVVWA Standard, 150-lb. Class, per Enclosed Minimum Specifications and	20	Each	\$224.15	\$4,483.00		
42	Gland, retainer, 10-inch, split Megalug, Series 1100 SD, (see NOTE 1). AWWA Standard, 150-Ib. Class, per Enclosed Minimum Specifications and	2	Each	\$279.85	\$559.70		
43	Gland retainer, split Megalug, Series 1100 SD, 12- inch, (see NOTE 1), AWWA Standard, 150lb Class, per Minimum Specifications and Special	2	Each	\$347.59	\$695.18		
44	Plug, 6-inch solid, M.J., ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.	80	Each	\$83.52	\$6,681.60		
45	Plug, 8-inch solid, M.J., ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.	50	Each	\$123.12	\$6,156.00		
46	Plug, 10-inch solid, MJ., ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum	2	Each	\$214.56	\$429.12		
47	Plug, 12-inch solid, M.J., ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.	12	Each	\$211.68	\$2,540.16		
48	Plug, 16-inch solid, M.J., ductile iron, (see NOTE I), AWWA Standard, 150-Ib. Class, per Minimum Specifications.	2	Each	\$557.28	\$1,114.56		
49	Plug, 6-inch x 1/2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.	20	Each	\$133.60	\$2,672.00		
50	Plug, 6-inch x 2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.	10	Each	\$120.24	\$1,202.40		
51	Plug, 6-inch x 3-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.	10	Each	\$423.82	\$4,238.20		
52	Plug, 6-inch x 4-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.	10	Each	\$601.47	\$6,014.70		
53	Plug, 8-inch x 1/2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications	20	Each	\$178.40	\$3,568.00		
54	Plug, 8-inch x 2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications	10	Each	\$160.56	\$1,605.60		

Renee'

Digitally signed by Renee' Stevenson Date: 2022.06.15 12:25:59 -04'00'

Witness Signature: Stevenson

Agent Signature: \_\_\_\_

#### ITB NAME: Ductile Iron Water Main (Multi-YearT)

#### DEPARTMENT OF PURCHASING CONTRACTING Price Bid TABULATION

ITEM	DESCRIPTION	Ferguson Wateworks				Vendor	
		Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
55	Plug, 10-inch x 2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.	2	Each	\$252.00	\$504.00		
56	Plug, 12-inch x 2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications	2	Each	\$247.68	\$495.36		
57	Plug, 16-inch x 2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.	2	Each	\$617.04	\$1,234.08		
58	Reducer, M.J., 6-inch x 3-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	15	Each	\$107.28	\$1,609.20		
59	Reducer, M.J., 6-inch x 4-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	15	Each	\$90.72	\$1,360.80		
60	Reducer, M.J., 8-inch x 6-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	100	Each	\$131.76	\$13,176.00		
61	Reducer, M.J., 10-inch x 6-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications	2	Each	\$168.48	\$336.96		
62	Reducer, M.J., 10-inch x 8-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	2	Each	\$185.76	\$371.52		
63	Reducer, M.J., 12-inch x 6-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	2	Each	\$222.48	\$444.96		
64	Reducer, M.J., 12-inch x 8-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	2	Each	\$226.80	\$453.60		
65	Reducer, M.J., 12-inch x 10-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	2	Each	\$252.00	\$504.00		
66	Reducer, M.J., 16-inch x 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	2	Each	\$514.08	\$1,028.16		
67	Reducer, M.J., 24-inch x 16-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	2	Each	\$1,396.80	\$2,793.60		
68	Restraint, thrust, 3-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megalug Series 1100 or Uni-flange Series 140; per Minimum Specifications and Special Specifications	24	Each	\$55.64	\$1,335.36		

Witness Signature: Renee' Stevenson Date: 2022.06.15 12:27:19-04'00'

#### ITB NAME: Ductile Iron Water Main (Multi-YearT)

#### DEPARTMENT OF PURCHASING CONTRACTING Price Bid TABULATION

ITEM	DESCRIPTION	Ferguson Wateworks					Vendor
	1	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
69	Restraint, thrust, 4-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megalug Series 1100 or Uni-flange Series 140; per Minimum Specifications and Special Specifications	24	Each	\$60.57	\$1,453.68		
70	Restraint, thrust, 6-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megalug Series 1100 or Uni-flange Series 140; per Minimum Specifications and Special Specifications.	300	Each	\$74.81	\$22,443.00		
71	Restraint, thrust, 8-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megalug Series 1100 or Uni-flange Series 140; per Minimum Specifications and Special Specifications.	400	Each	\$101.94	\$40,776.00		
72	Restraint, thrust, 10-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megalug Series 1100 or Uni-flange Series 140; per Minimum Specifications and Special Specifications.	20	Each	\$144.96	\$2,899.20		
73	Restraint, thrust, 12-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megalug Series 1100 or Uni-flange Series 140; per Minimum Specifications and Special Specifications.	100	Each	\$194.83	\$19,483.00		
74	Restraint, thrust, 16-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megalug Series 1100 or Uni-flange Series 140; per Minimum	30	Each	\$349.59	\$10,487.70		
75	Sleeve, solid long, 6-inch x 12-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	200	Each	\$141.12	\$28,224.00		
76	Sleeve, solid long, 8-inch x 12-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	150	Each	\$226.80	\$34,020.00		
77	Sleeve, solid long, 10-inch x 12-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	10	Each	\$271.44	\$2,714.40		
78	Sleeve, solid long, 12-inch x 12-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	40	Each	\$365.04	\$14,601.60		
79	Sleeve, solid long, 16-inch x 15-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	12	Each	\$697.68	\$8,372.16		
80	Sleeve, solid long, 14-inch x 15-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$551.52	\$1,103.04		
81	Sleeve, solid long, 18-inch x 15-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$920.16	\$1,840.32		

Renee' Witness Signature: <u>Stevenson</u>

Digitally signed by Renee' Stevenson Date: 2022.06.15 12:27:37 -04'00'

Agent Signature:

# ITB NAME: Ductile Iron Water Main (Multi-YearT)

#### DEPARTMENT OF PURCHASING CONTRACTING Price Bid TABULATION

	DESCRIPTION						
ITEM			Fe	rguson Watewo	orks		Vendor
		Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
82	Sleeve, solid long, 20-inch x 15-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$1,110.96	\$2,221.92		
83	Sleeve, solid long, 24-inch x 15-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$1,462.32	\$2,924.64		
84	Sleeve, solid long, 30-inch x 24-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$3,062.16	\$6,124.32		
85	Sleeve, solid long, 36-inch x 24-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$4,298.40	\$8,596.80		
86	Sleeve, solid long, 42-inch x 24-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$5,747.76	\$11,495.52		
87	Sleeve, solid long, 48-inch x 24-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$8,073.36	\$16,146.72		
88	Reducer, M.J., 16-inch x 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	2	Each	\$514.08	\$1,028.16		
89	Reducer, M.J., 16-inch x 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications.	50	Each	\$223.20	\$11,160.00		
90	Tee, 8-inch x 6-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.	30	Each	\$276.48	\$8,294.40		
91	Tee, 8-inch x 8-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.	60	Each	\$334.08	\$20,044.80		
92	Tee, 10-inch x 6-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$357.12	\$714.24		
93	Tee, 10-inch x 8-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$417.60	\$835.20		
94	Tee, 10-inch x 10-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$476.64	\$953.28		
95	Tee, 12-inch x 6-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.	5	Each	\$451.44	\$2,257.20		
96	Tee, 12-inch x 8-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.	10	Each	\$519.12	\$5,191.20		

Renee' Witness Signature: <u>Stevenson</u>

Digitally signed by Renee' Stevenson Date: 2022.06.15 12:28:06 -04'00'

Agent Signature: \_

Purchasing Director Signature:

# ITB NAME: Ductile Iron Water Main (Multi-YearT)

#### DEPARTMENT OF PURCHASING CONTRACTING Price Bid TABULATION

ITEM	DESCRIPTION	Ferguson Wateworks					Vendor
		Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
97	Tee, 12-inch x 12-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$665.28	\$1,330.56		
98	Tee, 16-inch x 8-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications. Bidding On:	2	Each	\$1,006.56	\$2,013.12		
99	Tee, 16-inch x 6-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$926.64	\$1,853.28		
100	Tee, 16-inch x 16-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.	2	Each	\$1,518.48	\$3,036.96		
101	Tee, flanged, 3-inch x 3-in h, ductile iron, (see NOTE I), AWWA Standard, Class 150, per Minimum Specifications.	40	Each	\$161.28	\$6,451.20		
102	Tee, flanged, 4-inch x 4-inch, ductile iron, (see NOTE J), AWWA Standard, Class 150, per Minimum Specifications.	40	Each	\$318.96	\$12,758.40		
103	Tee, hydrant, 6-inch x 6-inch x 6-inch, M.J., ductile iron, (see NOTES 1), AWWA Standard, Class 150. U. S. Pipe Figure No.U-592 or acceptable equal,	150	Each	\$257.04	\$38,556.00		
104	Tee, hydrant, 8-inch x 8-inch x 6-inch, M.J., ductile iron, (see NOTES 1), AWWA Standard, Class 150; U. S. Pipe Figure No.U-592 or acceptable equal,	50	Each	\$321.84	\$16,092.00		
105	Tee, hydrant, 10-inch x 10-inch x 6-inch, M.J., ductile iron, (see NOTES 1), AWWA Standard, Class 150; U. S. Pipe Figure No.U-592 or acceptable equal, per Minimum Specifications	2	Each	\$407.52	\$815.04		
106	Tee, hydrant, 12-inch x 12-inch x 6-inch, M.J., ductile iron, (see NOTES 1), AWWA Standard, Class 150; U. S. Pipe Figure No.U-592 or acceptable equal, per Minimum Specifications.	20	Each	\$462.96	\$9,259.20		
107	Tee, hydrant, 16-inch x 16-inch x 6-inch, M.J., ductile iron, (see NOTES 1), AWWA Standard, Class 150; U. S. Pipe Figure No.U-592 or acceptable equal, per Minimum Specifications.	10	Each	\$822.96	\$8,229.60		
108	Bend, 90-degree FLXFL, 3-inch ductile iron, (see NOTE 1), AWWA Standard. Class 150; U.S. Pipe Figure No. U-592 or acceptable equal, per Minimum Specifications.	40	Each	\$113.04	\$4,521.60		

Renee' Witness Signature: <u>Stevenson</u>

Digitally signed by Renee' Stevenson Date: 2022.06.15 12:28:26 -04'00'

Agent Signature: \_

Purchasing Director Signature:

# ITB NAME: Ductile Iron Water Main (Multi-YearT)

# DEPARTMENT OF PURCHASING CONTRACTING Price Bid TABULATION

ITEM	DESCRIPTION	Ferguson Wateworks					Vendor
		Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
109	Bend, 90-degree FLXFL, 4-inch ductile iron, (see NOTE 1), AWWA Standard. Class 150; U.S. Pipe Figure No. U-592 or acceptable equal, per Minimum Specifications	40	Each	\$174.96	\$6,998.40		
TOTAL: Bidder result:	TOTAL: Bidder add prices in " Amount" columns for Items No. 1 through 109, an result:		id enter the	\$	952,350.51		
Bidder p	lease enter the deduction amount per load if ppicke	d up by DeKalb	County.		\$250.00	\$	
	Number of Bids Received:		1				
	LSBE Participation		Waived				
Attendance at the Mandatory LSBE Meeting (Yes or No)		Yes					
	Bid Pricing in separate sealed envelope (Yes or No)		Yes				
JUSTIFICATION	USTIFICATION:						

Witness Signature:	Renee' Stevenson	Digitally signed by Renee' Stevenson Date: 2022.06.15 12:28:56 -04'00'
		Digitally signed by Judi
Agent Signature	i Mooro	Moore
Agent Signature!		Date: 2022.06.15
		11:38:33 -04'00'